8. 37 — 20V3 (§10.4)

9. 10f — 18V3r — 12 (§10.4)
10. 9 {(§10.4)
11. x=6o0rx = -4 (1.1
12, x =2+ V7 (§11.2)
13, x =2 GILD

4. x= 7 (§10.5)

15.x—5*‘/_7(§114)

16. 1 = =¥20(511.2)
17. x = —5(311.1)

18. x =5 * 2V7 (§11.3)
19. 25V3 sqin. (§11.6)

20. Let r = rate of the slower truck,

r + 10 = rate of the faster truck;
400 400
P o+ 10

[ 40 mph and 50 mph
21. ($11.7)

y=x2+4x—5 ’

(§11.6)

-2.-9

22, (§11.7}

Exercise 6.1

1. ~DEB and ZBEA; £EAD and
ZLDAB
3. (@) 60° (b)30°
)y 72° () 1°
5 128° 7.64° 9. x=20
11. x=4
13. £1 = 145°, £2 = 35°, £3 = 145°
15. £1 =65 £2=115° £3 = 65°
17, Z1 = -3 = /6= £8 = 55°%
L2 =L5=27=125
19. x = 56
2. L1 =Ld=£5=2/7= /9
= /11 =A14 = 216 = 140°;

(c) 45°

L3=26=8=L10=212=
L13 =715 = 46°

23. £1 =50% £2 = 130%
£3 =50° £4 = 130°

Exercises G.2

1. 123° 3, 70°,70° 5. x=128
T.x=28 9 x=67 1L x=26
13. |AB|=5 15. |AC|= V&5
17. |AC | =BC| = 4V2

19. |AC| = 4V5

21. 20V2 = 28.28 feet

23, 240.8 miles

25. 113.2 nautical miles

27. No 29.x=727 31 x=115
33 x =70 35 x=40

Exergises 6.3

1. SSS 3. ASA 5. ASA 7. SAS
9. SAS 11, SAS 13, ASA

Exercises 6.4

1. The corresponding pairs of angles
areAand D, Band E, Cand F

3. The corresponding pairs of angles
are A and EDB, ACB and DEB, ABC
and DBE

5. The corresponding pairs of angles
areAand D, Band E, Cand F

7. |DE|=24,|EF| =12

9. |DE|=175,1DF| =125

11. |[AC| =20 13, [EA}=

15. |DE| =12

17. |AB| = V61,|CD | = 8L,
e — Vel
1DE| =35

19. 271t 21. 102cm 23, 291
25. 03 cm; 0.l cam

27. |AC1=6,|BC| = 6V?2

29, |AB | = 12V3, |BC| = 24
3. |AB|-|BC|:&:10\/_
33, [AB[-4\/_,§BC|“"S\/_

Exercises G.b

1. 80°

3. B =120° C = 60°, D = 120°
S.x=5 7. x=18

9. V89em 1L 4V2in,

13. i;’ch 21, V117 = 3V13

Answers to Selected Exercises

ANS-27

23. x=5 25 x=VE&E9
27. x = V85 29 x= V37

Exercises 6.6

L. P=261t, A~ 40sqft

3. P=36in.,A =72 3q in.

5. P=12in,A =9sqin

7. A =48 9. A = 60

1. A=24 13. A=24

15. A=12 17. A=151

19, P =56,A = 180

2L P =13+ V89,4 =20

23. P=16+4V2 A =14V2

25. P = 16 + 8V5 cm,
A=32\qucm

27. P=20\@mm,A=505qmm

29, P=22,A =126

31. P=56,A =108

33, A=54V2-18 35. A =37

3. A=132 39, A=30

41. P = 147 in.; A = 945 sq in.

43, P=128in;A = 5120 sq in.

45. 1050 sq ft

Exercises G.7

1. 35° 3. 130° 5. 6min.
7. 8nft 9. Fin.

1. P = H“+ 12;4 =12

13. P—S"+ 10; A—25
15. 9xsgin. 17, 361!: 5q in.
19. P =20+ 10min,
A = 50m sq in.
21. 50“ sq in.
23, P—22+3n,A:48+%“
25. 64 — t6mem 27, 80R
2%, 14+ 51
31. P=70+ 5n cm;
A = 300 + 12.5m sg cm
33. One 12-in. pie; they are both the
same value.

Exercises 6.8

1. A = 396 cm?; V = 504 em®

3. A = 40n ¢, V = 3on ft°

5. A=2dnm%: V= 12nm’

7. A=2756n1% V= T624n i

9. 4 =1131#f% V=11311
11. A = 2262 cm?; V=2513 cn®
13. A= 1346 m% V = 648 m*
15. A = 502.7 f%, V = 599.5 ft
17. A = 4,712.4 mm?*;

V = 29,452 4 mm’




